CLASSIFICATION OF SERVICE – OWENTON

Applicable

Applicable to all customers in the City of Owenton

Availability of Service

Available for Residential, Commercial, Industrial, Municipal and All Other Public Authority service.

Monthly Rates

CANCELLED

August 28, 2022

KENTUCKY PUBLIC SERVICE COMMISSION

For service rendered from July 2, 2015 to July 1, 2016:

Within the City Limits

	Per 1,000 gallons		Per 100 gallons
First 2,000 gallons	\$19.54 minimum bill	First 20 100 gallons	\$19.54 minimum bill
Next 1,000 gallons	8.87 per 1,000 gallons	Next 10 100 gallons	0.887 per 100 gallons
Next 2,000 gallons	6.98 per 1,000 gallons	Next 20 100 gallons	0.698 per 100 gallons
Next 5,000 gallons	6.33 per 1,000 gallons	Next 50 100 gallons	0.633 per 100 gallons
Next 10,000 gallons	5.66 per 1,000 gallons	Next 100 100 gallons	0.566 per 100 gallons
Next 20,000 gallons	4.99 per 1,000 gallons	Next 200 100 gallons	0.499 per 100 gallons
All over 40,000 gallons	4.75 per 1,000 gallons	All over 400 100	0.475 per 100 gallons
		gallons	

Outside the City Limits

First 2,000 gallons	\$24.18 minimum bill	First 20 100 gallons	\$24.18 minimum bill
Next 1,000 gallons	10.98 per 1,000 gallons	Next 10 100 gallons	1.098 per 100 gallons
Next 2,000 gallons	8.65 per 1,000 gallons	Next 20 100 gallons	0.865 per 100 gallons
Next 5,000 gallons	7.82 per 1,000 gallons	Next 50 100 gallons	0.782 per 100 gallons
Next 10,000 gallons	6.99 per 1,000 gallons	Next 100 100 gallons	0.699 per 100 gallons
Next 20,000 gallons	6.17 per 1,000 gallons	Next 200 100 gallons	0.617 per 100 gallons
All over 40,000 gallons	5.88 per 1,000 gallons	All over 400 100	0.588 per 100 gallons
		gallons	

ISSUED: September 12, 2018 EFFECTIVE: October 12, 2018

ISSUED BY: /s/ Nick O. Rowe

Nick O. Rowe **President**

2300 Richmond Road, Lexington, KY 40502

KENTUCKY PUBLIC SERVICE COMMISSION

> Gwen R. Pinson **Executive Director**

Twen R. Punson

EFFECTIVE

10/12/2018

For service rendered from July 2, 2016 to July 1, 2017:

Within the City Limits

	Per 1,000 gallons		Per 100 gallons
First 2,000 gallons	\$22.11 minimum bill	First 20 100 gallons	\$22.11 minimum bill
Next 1,000 gallons	10.04 per 1,000 gallons	Next 10 100 gallons	1.004 per 100 gallons
Next 2,000 gallons	7.90 per 1,000 gallons	Next 20 100 gallons	0.790 per 100 gallons
Next 5,000 gallons	7.16 per 1,000 gallons	Next 50 100 gallons	0.716 per 100 gallons
Next 10,000 gallons	6.40 per 1,000 gallons	Next 100 100 gallons	0.640 per 100 gallons
Next 20,000 gallons	5.65 per 1,000 gallons	Next 200 100 gallons	0.565 per 100 gallons
All over 40,000 gallons	5.37 per 1,000 gallons	All over 400 100	0.537 per 100 gallons
		gallons	

Outside the City Limits

First 2,000 gallons	\$24.18 minimum bill	First 20 100 gallons	\$24.18 minimum bill
Next 1,000 gallons	10.98 per 1,000 gallons	Next 10 100 gallons	1.098 per 100 gallons
Next 2,000 gallons	8.65 per 1,000 gallons	Next 20 100 gallons	0.865 per 100 gallons
Next 5,000 gallons	7.82 per 1,000 gallons	Next 50 100 gallons	0.782 per 100 gallons
Next 10,000 gallons	6.99 per 1,000 gallons	Next 100 100 gallons	0.699 per 100 gallons
Next 20,000 gallons	6.17 per 1,000 gallons	Next 200 100 gallons	0.617 per 100 gallons
All over 40,000 gallons	5.88 per 1,000 gallons	All over 400 100	0.588 per 100 gallons
		gallons	

For service rendered from July 2, 2017 to July 1, 2018:

Within and Outside the City Limits

	Per 1,000 gallons		Per 100 gallons
First 2,000 gallons	\$25.02 minimum bill	First 20 100 gallons	\$25.02 minimum bill
Next 1,000 gallons	11.36 per 1,000 gallons	Next 10 100 gallons	1.136 per 100 gallons
Next 2,000 gallons	8.94per 1,000 gallons	Next 20 100 gallons	0.894 per 100 gallons
Next 5,000 gallons	8.10 per 1,000 gallons	Next 50 100 gallons	0.810 per 100 gallons
Next 10,000 gallons	7.24 per 1,000 gallons	Next 100 100 gallons	0.724 per 100 gallons
Next 20,000 gallons	6.39 per 1,000 gallons	Next 200 100 gallons	0.639 per 100 gallons
All over 40,000 gallons	6.08 per 1,000 gallons	All over 400 100	0.608 per 100 gallons
		gallons	

ISSUED: September 12, 2018 EFFECTIVE: October 12, 2018

ISSUED BY: /s/ Nick O. Rowe

Nick O. Rowe President CANCELLED 2300 Richmond Road, Lexington, KY 40502

August 28, 2022

KENTUCKY PUBLIC SERVICE COMMISSION **KENTUCKY**PUBLIC SERVICE COMMISSION

Gwen R. Pinson Executive Director

Steven R. Punson

EFFECTIVE

10/12/2018

For service rendered from July 2, 2018 to August 31, 2018:

Within and Outside the City Limits

	Per 1,000 gallons		Per 100 gallons
First 2,000 gallons	\$28.29 minimum bill	First 20 100 gallons	\$28.29 minimum bill
Next 1,000 gallons	12.85 per 1,000 gallons	Next 10 100 gallons	1.285 per 100 gallons
Next 2,000 gallons	10.11 per 1,000 gallons	Next 20 100 gallons	1.011 per 100 gallons
Next 5,000 gallons	9.16 per 1,000 gallons	Next 50 100 gallons	0.916 per 100 gallons
Next 10,000 gallons	8.19 per 1,000 gallons	Next 100 100 gallons	0.819 per 100 gallons
Next 20,000 gallons	7.22 per 1,000 gallons	Next 200 100 gallons	0.722 per 100 gallons
All over 40,000 gallons	6.89 per 1,000 gallons	All over 400 100	0.689 per 100 gallons
		gallons	

For service rendered on and after September 1, 2018:

Within and Outside the City Limits

	Per 1,000 gallons		Per 100 gallons
First 2,000 gallons	\$27.19 minimum bill	First 20 100 gallons	\$27.19 minimum bill
Next 1,000 gallons	12.35 per 1,000 gallons	Next 10 100 gallons	1.235 per 100 gallons
Next 2,000 gallons	9.72 per 1,000 gallons	Next 20 100 gallons	0.972 per 100 gallons
Next 5,000 gallons	8.80 per 1,000 gallons	Next 50 100 gallons	0.880 per 100 gallons
Next 10,000 gallons	7.87 per 1,000 gallons	Next 100 100 gallons	0.787 per 100 gallons
Next 20,000 gallons	6.94 per 1,000 gallons	Next 200 100 gallons	0.694 per 100 gallons
All over 40,000 gallons	6.62 per 1,000 gallons	All over 400 100	0.662 per 100 gallons
		gallons	

CANCELLED

August 28, 2022

KENTUCKY PUBLIC SERVICE COMMISSION

ISSUED: September 12, 2018 EFFECTIVE: October 12, 2018

ISSUED BY: /s/ Nick O. Rowe

Nick O. Rowe President

2300 Richmond Road, Lexington, KY 40502

Issued by authority of an Order of the Public Service Commission in Case No. 2018-00042 dated August 30, 2018. KENTUCKY

PUBLIC SERVICE COMMISSION

Gwen R. Pinson Executive Director

Timen R. Punsor

EFFECTIVE

10/12/2018

CLASSIFICATION OF SERVICE - OWENTON

CONNECTION FEE

Applicable

Applicable to all customers in the City of Owenton.

Availability of Service

Available for Residential, Commercial, Industrial, Municipal and All Other Public Authority metered Service.

Residential

Residential – single family residence and duplexes \$625.00

Apartment buildings having 3 to 8 units \$1,250.00 per building

Apartment buildings having 9 to 16 units \$1,500.00 per building

Apartment buildings having 17 or more units \$125.00 per unit

Commercial and Industrial

Commercial and industrial establishments – establishments placing large amounts of waste in system will be contracted separately

Transient Commercial/Governmental Residential

Transient Commercial/Governmental Residential-type uses and facilities for such use

Each additional room made available for occupancy/use by customers or expected users of a motel, hotel or term-occupant or patients of a hospital, nursing home or extended care facility or each room to be used as a classroom or restroom in an educational building or educational facility \$3,000.00

CANCELLED

August 28, 2022 \$900.00

KENTUCKY PUBLIC SERVICE COMMISSION

\$100.00 per room

Multi-Use Building or Facilities

Where a building or facility has more than one permitted use, the greater or greatest fee hereunder for such permitted use shall be charged or levied for the sewer connection.

ISSUED: September 12, 2018 EFFECTIVE: October 12, 2018

ISSUED BY: /s/ Nick O. Rowe

Nick O. Rowe President

2300 Richmond Road, Lexington, KY 40502

KENTUCKY

PUBLIC SERVICE COMMISSION

Gwen R. Pinson Executive Director

Steven R. Punson

EFFECTIVE

10/12/2018